
ANSWER KEY

TOPICWISE EXAM - 17

27.c) 1680 cq] 1680 cq] 1680 cq] 1680 cq] 1680 cq]

             1˛mw h¿jsØ ]eni = 8000 x10/100
                                       = 800

            2-̨ mw h¿jsØ ]eni = 8800 x10/100
                                       = 880

                               ]eni = 800 + 880

                                       = 1680

28.c) 15h¿jw 15h¿jw 15h¿jw 15h¿jw 15h¿jw

                5 h¿jw = 2 (Xp-I)

               10 h¿jw = 2 (2 XpI) = 4 XpI

                15h¿jw = 2 (4 -Xp-I) = 8XpI

29.d) 305 305 305 305 305

D =  P(r
/100)2 (3+

r
/100)

    = 40000 x 5/100 
x 5

/100
   (3+5

/100
)

                            = 40000 x 5
/100

x 5
/100

x 305
/100

                           = 305

30. d) 10816 10816 10816 10816 10816

 A = P (l+r
/100)2

 = 10000 x 
104

/100 x  104
/100

                        = 10816

1. c) antkmdmw

2. a) au≠v K2

3. d) Imc-t°mdw

4. a) Jmkn

5. c) A{Un-\m-en≥

6. b) sds\ se\°v

7. a) sk]v‰w-_¿ 29

8. d) apXe

9. b) X

10. a) IV

11. d) 8

12. a) \K-c-]m-enI \nbaw

13. d) sI.-tI-f-∏≥

14. d) Xncq¿

15. b) thßc

16. c) ‰n.-F¬ kvt{Sm©v

17. d)Hmkvt{S-enb

18. a) ssN\

19. c) Kennel

20. c) Apiary

21. b) pen

22. a) stable

23. b) \ym-bo-I-cWw

24. c) iq\-y-thf

25. b) abn¬ F{X at\m-l-c-am-sbmcp ]£n

26. b) hnl-K-ho-£Ww


